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int x=20;
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String([] strl = {"A", "B", "C", "D"},

Stringl] str2~("A", "B").

ArrayList list] = new ArrayList(Arrays.asList(strl));

ArrayLaist list2 = new ArrayList{Arrays.asList(str2)),

ArrayList a = (ArrayList)list].clone();

list] addAll(list2),
Collections.sort(listl);

System.out,println(list1),
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(A)System. delete(); (B)System. gc(); (C)System. finalize();(D)System. pack(); e
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class A implements Thread {

public void run() {
System.out.println{"A");
}

}

public class Sub {
public static void maimn({String args[]) {
A b=new A(),
b.ran(),
J
}
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